Evaluation 1 : “La table de multiplication par 2" Evaluation 1 : “La table de multiplication par 2"

2X10= oo, 2X2T oo, 2X8= i, 2X10= e, 2X2= e, 2X8= e
2X4= . 2X7 = e 2X3= i, 2X4= i, 2X7 = e, 2X3= e
2X5= 2X6 = e 2X9 = i, 2X5= . 2X6= e, 2X9 = e,
Evaluation 2 : ""La table de multiplication par 2" Evaluation 2 : "“La table de multiplication par 2"

TOX2= oo 2X2= i, 8X2= i, TOX2= oo, 2X2= oo, BX2= oo
5X2= oo, OX2= e, AX2= e, 5X2= oo, OX2= e, AX2= o,
7X2= e, B3X2= oo, OX2= oo, TX2= e, 3X2= e, OX2= oo,
Evaluation T : "La table de multiplication par 2" Evaluation T : “La table de multiplication par 2"

2X10= oo, 2X2T oo, 2X8= e, 2X10= e, 2X2= oo, 2X8 = oo,
2X4= i 2X7 T e 2X3 T i, 2X4= i, 2X7 = i, 2X3 T i,
2X5= i 2X6 = e, 2X9 = i, 2X5= 2X6 = i, 2X9 = i,
Evaluation 2 : "“La table de multiplication par 2" Evaluation 2 : "“La table de multiplication par 2"

TOX2= oo, 2X2T oo, BX2= oo, TOX2= oo, 2X2F oo, BX2= oo,
5X2= oo, OX2= e, AX2= oo, 5X2= oo, OX2= e, AX2= oo,
7X2= i, 3X2T e, OX2= oo, 7X2= i, 3X2= e, OX2= oo,




